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:7). A blue-eyed man , both of whose parents were brown-
eyed, married a brown-eyed woman whose father was blue-eyed and
whose mother was brown-eyed . Eye color is a simple
dominant/recessive trait with blue being recessive. What are the:
genotypes of all these individuals?

8). Inrabbits, spotted coat is dominant to solid, and blatk is

' dominant to brown. A brown spotted rabbit is mated to a solid blatk

one, and all the offspring are black-spotted. What are the parents
genotypes? If two of these black spnf!ed rabbits were mated ﬁJ—hat
would their offspring look like.?

g), The long hair of Persian cats is recessipe to the short hair
of Siamese, but the black coat of Persians is dominant to the brown
and tan coat color of Siamese. 11 apure black, long-haired Persian is
mated to a pure brown and tan, short-heired Siamese, what will be
the appearance of the ﬁ.rst generation? If two of these cals i;re'
mated, what is the chance thata Iong—haffed. prown and tan cat wi\!
be produced?

10). One pair of genes for coat color in cats is sey-linked. The
gene £ produces yellow coat, # produces black coat, aﬁd the
heterozygote, . -
£ , produces the tortoise-shell pattern of coat color. What klnﬁ of
offspring result from the mating of a black male and a tortoise-shell
female? )

11). Mrs. Doe and Mrs. Roe had babies at the same hospital and
at the same time. Mrs. Doe took home a girl and named her Nanty.
Mrs. Roe tock home & boy and named him Richard, however, shewas
sure she had a girl and sued the hospital. Mr. Roe is type O, Mrs. Roe
is Type B, Both the Does are type 8. Nancy is type A and pichard is
type 0. Was there an exchange? )




